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1. BSUW OAT & S ST 7T (Adshl) sl i IfqaT s o fog qeh1eh oAl
SEAATS ToRaT TR T |
Y At T8 (H1fEe)

technique was used for making bronze statue of Dancing Girl during Harappa
Civilisation.
Lost Wax casting

2. TiAH §g I T fohE TE o qC T ITH g3 AT ?
s

Gautam Buddha attained enlightenment on the bank of which river ?
Niranjana

3. g % eIt o G fEfoifad # & ik & 78 Tsie oft St e 8 T g8 ot 7
S

Which of the following was new capital during Harshavardhan’s reign that shifted from
Thanesar ?
Kannauj

4. TfaRaa @ @ fopd T 61 A1ha “BUTR (TTiea) W™ off ?
ST

Which of the following army’s strength was “Guerilla warfare” ?
Maratha
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5. fofew 3 frafofea & @ fra a1 T aurs #§ T&qa w1 i Scgshar fe@ms ?
Ish

In which of the following languages British showed keenness in introducing in Indian
society ?
English

6. U1 TS Shi AT A dTel ToH HRihdl 1 W fafey |
FEL AT

Write the name of first activist who demanded complete independence (Poorna Swarayj).
Hasrat Mohani

7. frefafeas § @ f5a st srieem %1 I9@ SR GHT ST 8 ?
e o ferarfr vt &1 ol |

Which of the following is considered as major cause of Swadeshi Movement ?

The decision to divide Bengal.

8. TacThd qg i I3 o HaTeHT Tieft o ol & s g v o
fegat 3t gaemm! % st J1fires Tohar @ & forg |

The main reason behind Mahatma Gandhi’s decision to take up the Khilafat Issue was:

To bring more unity among Hindus and Muslims.

9. YA TR AfufEm, 1935 o el | fafes awenr & 3Afam AfResr 1 U 3estr S 41
o ?
T EEhRI IR 7T < fore forsy wifereit

Which was an example of the ultimate authority of the British government in the provisions
of the Government of India Act, 1935 ?

Special powers for governor over provincial governments
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10. HRAS sclieh hi LTI ffetiad | & fergeh g <1 715 oft ?
gy =g 91
Forward Bloc was founded by whom among the following ?
Subhas Chandra Bose

11. JEa < goa fefafga i a s 6ig 2
HaA

Which among the following is the capital of Lakshadweep ?
Kavaratti

12. 9ra | ffafad 8 @ fora M w feg 3R Ud & qa™ § =9mges S7a 9™ ST HehdT @ 7
YT TEESA

At which among the following places in India, one can find a wide difference in day and
night temperatures ?
Thar Desert

13. fova =1 fopam Y@ e &1 (259 W) § fafor fepeam man 2 2

Into how many major time zones, is the world divided ?
24

14. Ta=feifaa d @ % Sere qiedy s ges T8 8 ?
LT

Which of the following is not a component of population change ?
Morbidity

15. 38 SIS 1 A SaTsC (98 “ged U8 o Hhe” o ®9 § 1 ST 7 |
ST N1

Name the forest which is known as the “lungs of the planet earth”.
Amazon rain forest
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16. “feutar = @ faem” % 3eva 4, frferfad & @ o €t ueeda et 30 178 ot 7
ELIRECLRRISE]
With objective of “Growth with Stability”, which among the following Five Year Plans was

launched ?
4™ Five Year Plan

17. frefefaa § @ foraw cafhat o1 safhat & wqg & i aTet soaam et § 7
Toft &

Which among the following consists of business owned by individuals or a group of
individuals ?
Private Sector

18. frafafgadafra amad sfa wifa S SR S ET T TETSER ?
.0, @A

Who among the following is known as the father of green revolution in India ?
M.S. Swaminathan

19. F=fafea o @ fera srfufrm 3 St % et & fou sid feifa $i 2
S Hufar (SushHt 1 Afearger IR &) JfafRm, 1970
Which among the following Act laid down the conditions for nationalisation of Banks ?
Banking Companies (Acquisition and Transfer of Undertakings) Act, 1970

20. 1991 § 8 31 Aifd (T.3.9.) & dgd e 3R Fsierwr 6hl uget 1 wrafies afomy
feffgad g aran ¢
EEEICaY]

Which among the following was the primary outcome of the liberalisation and privatisation
initiatives under the New Economic Policy (NEP) in 1991 ?
Globalisation

21. TAfaRed § & ®F YR dfaum 6 ge faemar 1€ 8 2
fo-wlia w=R
Which among the following is not a salient feature of Indian Constitution ?
Two-tier Government
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22. WRAH Hiag™ & T DPSP (T Hifd 6 e fagma) Fefafga 7 o ferg dfgam g af@ & ¢
HARAS

DPSP (Directive Principles of State Policy) for Indian Constitution was inspired by which
among the following Constitutions ?
Ireland

23. WA G99 % 317e0g 19 § H 91 SR M 7 7
e R AR TG I SRR
Atrticle 19 of the Indian Constitution includes which rights ?
Right to freedom of speech and expression

24. GUSH YUTTEH § HRATiTeh! fehereh Tfd Itterh Bt & 7
faum-vea
In a parliamentary system, to whom the executive is responsible ?
The legislature

25. 9 <hl TR OS] oHeree o fohd &R 3 ?
oH &R

How many tiers are there in the Panchayati Raj System of India ?
Three tiers

26. Teh BIE UTIL T TohaH STE o SIS gIaT 8 ?
746 912

One horse power is equal to approximately how many watts ?
746 watts

27. Tr=fafiad § @ sF & v vamfes sfufrar i g ?
YTt ST W9 | T

Which of the following is not a chemical reaction ?

03 6 MASTER


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

GET IT ON
Google Play

Conversion of water into steam

28.

gt e 8 8 frgem O g 7
LES

Pyorrhoea is a disease of which of the following ?
Gums

29.

FATUH Teh SHdeh &, Sl (FfeTiad 3 & fordd TR ST g ?
qrei
Phloem is a tissue found in which among the following ?

Plants

30.

fr=ferfiea d @ o= o1 tfie SR 9ed ° v fmn Sar g ¢
e Ttre

Which among the following acid is used in car battery ?

Sulphuric acid

31.

ffTiga & | o @1 s ged SreT 3 °

Which of the following fractions is the largest ?
7

8

32.

(6.73)° — (4.38)° B
(6.73)%+ 6.73 x 438 + (4.38)2

2.35
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33.

19 1 feraan fesra 7.6 2 2
40 gfaea

What percent of 19 is 7.6 ?
40 percent

34.

60 T 80 =i bl T} 379T=T T BT 3NEA 2

The average of all prime numbers between 60 to 80 is :
70.2

35.

V12.0409 —~/1.2544 =
2.35

36.

“HeWTeHT” 1 Hi-Toese =1 & ?
" + HIE-T

37.

A’ IR e H 7Y @
e 3 g

38.

Wk T et - garal 1 31 R
99 $S T8 8 M |

39.

ECIELEET R R IDCICI R A

03
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40. TH Hfoam A< R

Read the passage carefully and answer the corresponding questions : (41 and 42)

For the past week Elizabeth would come home from work and discover that her apartment
smelled like cigarette smoke. She did not know where the smell was coming from. Elizabeth
didn’t smoke. No one else had the key to her apartment to smoke inside while she was at work.
The smell of smoke especially bothered her because she had asthma. One day Elizabeth stayed
home from work because she was expecting a package. When she woke up that morning, the
apartment smelled fine. At one in the afternoon, Elizabeth went into the kitchen to make a
sandwich for lunch. That was when she noticed the smell of cigarette smoke. She called the
building’s superintendent. By the time he arrived at Elizabeth’s apartment, the whole place
smelled like cigarette smoke. The superintendent told Elizabeth that he was pretty sure the smoke
was coming up through the vents from her new downstair’s neighbour.

The new neighbour was a smoker. The superintendent told Elizabeth that there was nothing to be
done. The building was really old and the vents couldn’t be sealed. It was also perfectly legal for
the downstair’s neighbour to smoke in his apartment. He suggested that Elizabeth should buy an
air filter and see if that would help. Elizabeth bought an air filter but didn’t find it to be enough.
Her asthma was getting worse. Her clothes and furniture were beginning to smell like cigarette
smoke too. Elizabeth decided to go downstairs to talk to the neighbour. She was going to ask him
not to smoke in his apartment. Elizabeth knocked on the door. When he opened the door, a huge
wave of cigarette smoke came out. Elizabeth began coughing violently. The neighbour gave
Elizabeth a disgusted look. “Are you trying to get me sick ?” the neighbour asked her. Elizabeth
couldn’t believe what he was saying. “No, but you are ?” she said.

41. Elizabeth was suffering from
Asthma

42. Elizabeth’s new neighbour lived
downstairs

43. Choose the correct synonym : “Exile”
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Banishment

44. Choose the correct antonym : “Mourn”
Joy

45. Give one word substitute for the following :
“one who sells articles at public sales”
Auctioneer

46. I YT I U 3N ¥ KL fop Frfefiga § @ 19 a1 39 foepred 34 <41 el & = gy &1

TE e Y gular g |
YA :
L g STieRtor 3 gt €1 1 wet o gog o THa Sien e d g |
I YEUH BI-TR YT 1 T | Ikl HHf} 378 2 |
HYA | R 8 R HAH 11 96T IS 2 |
Read both the statements and decide which of the following answer choice correctly depicts
the relationship between these two statements.
Statements :
L. Police authority has recently increased vigil during the morning hours in the city.

II.  There has been considerable reduction in the incidents of petty crimes in the city.
Statement I is the cause and statement II is its effect.

47. Tt 3 foeh & a1, “ag At 5 q1 o ohaird WIS 1 UaT g |7 T 378 91 el ?
T

Gopi said to Vivek, “That person is the father of the only brother of my mother.” What would
Gopi call him ?
Maternal Grandfather

48. fow9 g / Find the odd one out :
3,13,17, 23,33, 67
33

49. 6:10 Wo HY b i G 3R e i g & off= =1 w7 71d It |
Find the angle between the hour hand and the minute hand of a clock at 6:10.
125°

03 10 MASTER


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

50. Ife A 126 % ®9 | hifed foma1 ST R, B 1 25 % &9 1 hifed fhaT @18, CHI 24 H &I H
Hifea fraT @1 ® ... I Z &1 1 & &9 4§ Hifsd a1 Iar 8, af MOBILE & ot &l

If A is coded as 26, B is coded as 25, Ciscoded as 24 ......... and Z is coded as 1, then find
the code for MOBILE.
141225181522

51. < 3T {g-3 A hl SHIA FATS shl Teh 3 TST(dl bl WIS fhH TSI HhI TS & ?
A

A new species of Damsel fly named The Anamalai Reed-tail has been discovered in which
state ?
Kerala

52. R TRUREh fosi o foret g1 o Helaety SO Tg ol 3TdG T JUEhR & THATHA foharm /I 7
..

Which country’s All-Party Parliamentary Group on Indian Traditional Sciences conferred the
Ayurveda Ratna award ?
UK

53. INS T A oA AFR | IO o SRS 3TeHTst (et 411) 3R o (et 413) & @y
Th HHAT HT31 ST 1 SRS [T |

qsH

INS Tarkash conducted a Maritime Partnership Exercise with Navy ships Almazz
(PC 411) and Nimer (PC 413) in the Red Sea.
Sudan

54, Syt frefarftaa & @ form & @ wafud Yy 2 ?
IYHIRRT SATTEHT

‘Jagriti’ is a mascot related to which among the following fields ?
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Consumer Awareness

55. HENIy U e 3iaTeTe o = 9 faafen |
TSI TR
Write the new name of Aurangabad located in Maharashtra.
Sambhaji Nagar

56. ffciRad § & form ot 7 IR, 2022 H, W facfedi % wesH ®i ggH % foru YR
AT T (I0A) S T SElhiicTeh TSI shi 9o <hi 7
TetE s forfies
In July, 2022 which of the following company announced a long-term partnership with

Indian Olympic Association (IOA) to elevate the performances of Indian athletes ?
Reliance Industries Limited

57. M1 UTSR HeR 3 foha TSI # WA 61 9a8 9 Fellfer (Qtdt) FR el TSl & 1 7
HA

Tata Power Solar started, India’s largest Floating Solar Power Project in which state ?
Kerala

58. femmaa yew § 21 feaeia 9g® 1V 951 WER 2022 fohd <211 o o= H 31 7
A 3R TIH TS STATEHT
Between which countries the 21-day joint exercise Vajra Prahar 2022 concluded in

Himachal Pradesh ?
India and United States of America

59. ‘TTh AT Wt o LTI B:
TYRT 4 ATE TTHIT SToh Yaeh! shi GoaIell # 9fg

The objective of the ‘Dak Karmayogi’ portal is :
Enhance the competencies of about 4 lakh Gramin Dak Sevak
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60. TS, 2022 H, Hih! 1S A Hih! BEA ! Serary Tferieh freri 1 foshfaa s o fow fora
Y T HHEIAT 710 W gEAen fhu d ¢
ERR

In July, 2022, Coffee Board has signed an MoU with whom to develop climate-resistant
varieties of the coffee crops ?
ISRO

61. TrfctRaa o & & A1 < WA o T1Y a8 sl ST ST H1en a2 ?
SReATCT

Which among the following countries shares longest international boundary with India ?
Bangladesh

62. Frefeiftaa o @ = i s il TSur g ?
ITTAH

Which among the following is the capital of Israel ?
Jerusalem

63. T=IfcTRad & | 2014 T SR AT YR &1 2991 TSI A AT | 7
AR
Which among the following is the 29™ state of India created in 2014 ?
Telangana

64. Fi=fcifea 4 @ fra U= 8 faum afiwe 2 7
Hleh

Which of the following states has the Legislative Council ?
Karnataka

65. Torm fem o1 et g A oo & ®U H TR A R 7
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8 AT
Which day is celebrated as Indian Air Force Day ?
8 October

66. fr=fcriga o @ forll YRa 1 Thiccis M HaTIIAT 2 7
EYl

Which among the following is also known as Scotland of India ?
Coorg

67. AT T T Lrafett 61 TRufe Hem @ |
wigh
art is the traditional art of stenciling from Mathura.

Sanjhi

68. diciisiel F=feiiad § & fpa S T T TeA © 7
T A s T8l
Volleyball is a national game of which among the following countries ?

None of these

69. frferiiga o & form =afr = witig Toae “g WY 31T wTs wemaiview fog g foreft 2 ¢
HETHT et

Who among the following persons wrote famous book “The Story of My Experiments with

Truth” ?

Mahatma Gandhi
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70. IRHvEA H MAged AF gedt & ifehiw it Wl sraEifyd ot €, S e
TRHUEH 1 TH Hcl & |
e faferon
Greenhouse gases in the atmosphere absorb most of the Earth’s emitted , which

heats the lower atmosphere.

Infrared radiation

Frafeiea STg=ag i SIHYE® g I8 T I (3. 71§ 75) % W ENT |

TG TGTT o SRINT <hl T TS b JaI3AT 1 <fsil § el Tl & | S S HRH <hl WAL QR o Ihdrel W ey
T ¥ HIGH TGTY STRER STHCTE Bid & | Tpa—hicTsil AT IE-TSE H Teid EMd b Sl o |1 & T,
61 3R 370 3119 heH 5@ S & | T8e] 3w Hieeh Tarel Th1 H SueTed huieht Feh! it ST ST & 3R iR
A T T S 35k oI, T & TRt STIRTE e St <l AR &1 ST & | HT-aT9 gI fean o 5 @ i v
AT | A FoTT U= § 18 ST Attt Hgat U, 3118, & 61 HRoT ot St 2, S 37 UgH ol €9 TR
FHL A 8 | S TR A o= T oh & TR I 19 hl 37 HEd 8 | ST AT 2 [ AT R E, T8 I 3
oA 3 oft e 8 & = STRY R T © | Tafercaehir smeR W e@ ot 31hiW, 20, =R, i qe @
S ATesh el | fth aredd § STOHT AR Tge @ 93dT & Td TTe qei FeTeee § 8 S g | Y
AT A a1t et &, TRt o & Jwia § Atk 3190y deh R SedT & | U g1 Iwead, T,
STIRTEEH, TSI, TTEH o Wi ATHRATE 3TN KN T HHRTh €9 § SR 2id & | AIHe Rt W@
T e AfUg 31 & i 1537 & | el ot T 2 TR e 3HIe © | 71 o6 HeH § U8 SHHIS Sied 9
T vgel & Hid 1 TR 81 AT ] | WA 3 31eh U2l § a1 o H 39 9t agaii w1 ST sl S @l § |
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s e T AT T T A e T SRR e T S ST e
T IR Gl 7T A T2 | Hal o W g go Jardigt ?

71. 3T 61 a1 9t § A1 wereif o ST hl d U W 7 | e T HRon § § 36 d &1 hE 6@
R0 I &I TR ?

Tl TH-FIRI T A |

72. HIEH 51 hl o U o S1E Jahi H i I T TgEar & fe@rs <t 2 2
()  STRETET 37 fa 8 wnfie 2 |
(i) T o fd G |
(i) AR e @ e |
(iv) <RI S = 3T1ed |
(i), (iii), (iv)

73. TG U1l 1 HaH i dTet a1 o fohd S H1 @au grar 8 ?

1. ik sregman
2. AN R gy
3. TE.3TE.A. I UgH
4.  HAHEEH FEqAT
I8 aHt
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74.  3TIHY 1Y H HIGH G BT Fa HiA a1t S oh foIT TeE SATET i Q1 2 7
Sl % Hi-a

75. 9Rd % 3 Tl § a1 ot | 59 afieft a&q3ti 1 T st 971 @ 7 | 369 N qe8 Jad
FOTHEAHATR ?
Tf-a19 = W S T8 &4 6 37 9= 1 W R 8, R At % 9y @ # o R
AN b T 3T S-S & |

FrfeRea STg=ag I SHYE® TgH I8 T F&HI (. 76 & 80) % SW AT |

S fafid s S Te % SN[ 3T foriie S1ea <l g0 o 3 foTu Fer ohid T8 ST & | 319 Sfieq <
foretr et <l U o o ToTw 218 ST STt 2 foh 2 39 @i bt g oht o Toru fohart s1erd ot 18 2 31
30 el v W @ B, o 756 gn o Feiita Sev o 18R ST ST Heh | | 9ISt H 9 S df
T 3R e 8 37w ga1 & 2 fop < wifdt a1 sroelt Frarfira a1 & s st stem wa o 2, 98 w=a @ 3
Al 319 A 37 il bl o R STH <l oh To78 Wl o @lied & Sl foh wiesa 5 SATsh qefed s &eh,
g e 3 | s 31cushifoTe e o foTu 2 | sfeh 37 i 311t o sr=rd @rdi 2 311 fepeft sTg W iftr
T e TG T U1 S &Il 8, SN G gidl & 3R STaIeehdl US4 W 3T 8 et ST Tl 2 |
TR R SRt ok T Tee o Haa H W@ U8 A1 Fifedi hi Tl oh site feyarent T T g o s
<1 ooft F & 3w | S=d W W@ I S A 8 a9 il O SUeTed BidT § | SRR A S STt
A& AT STARICA TEL! oh foT¢ Bt 8 | =il H T@ 74T ATk U a9  Yehteret 3fereh i Tear 8
| Y g HH AT o SR SRGH BIAT & | S=d § 37Th! e agd by firetar g aifer weft srerd remnsti o
TS 1 G A B B | STH ST §gd @ HH Ned Tt & o ggmdife off shex 78 & urdt 7
Seiepiferes aTfieh el % fore famr fopan Sirem & | g s o fawr & 3R = & fop forarm & 319 3=
e e o Tehd B | Few ° S e h amren < | foes off war g | Faw @ 3 o an 9
I <l USTE T 310 € 1 Jhg TR & | T % TR TH. 377, H. 311 Ferr o yrivwes ads
B | S, T, TS 3 Qe 3 3 e o o forg aferes o 3fiv srgemme o strevarenar it 8 3
T oft Seme & 8, wieg et adieh & fore e e weaer § o T af R meRar 7 | Tarr fera R dem
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TeheH ¥ STeTed T8 T&aT & 3R 38 St QeI U1 S H T off & Tk 8 | 37 A& i W &
fore T =i Foiia el =T | <hIS SomT UE el grat S g AT foRe S Eh |

76. 31T b YR R 13 foh freferfaa § fraw it i o ol foomwamd 8 2
() Trow & Srefenrfores amfies otexr wTH fobw ST Tehd 2 |
(i) Fraw sreamafy # g w1 ST BT R |
(iii) Tfeforn gr ufem < et & =g mE iy st faw ? |
(iv) Trawd o2 fed i gemern & wy fosp i war |
(i) 3 (iv)

77. T A U §5TR 39T o IR @l | 39 MR W FAfafga d g 9 @ fasheq w1 8 7

1. 93 Siflen tea faw fern 2
2. THY ! 9g S=d SIRGH 9T B |
3. YRGleTTs=d g |

4. IR GlenfE? |
4

78. 3TITVE % IMYR W Farsy f el atedi s um & forw, faw & fovg o fr=fofaa o @
I T A2 STIYG B ?

1. dreferelia weit sht Wity e srerd g € S B Hehell B |
2. reloprel wed ht il el 3= fow gy € Hyve Bl Hehdi R |

3. CrHeRTeliA WIEd] hl UITY S99 T8l 2, ifeh dreehiel s 99 g1 s g (Waq)
TR |
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Fod e <t g § STer 3= 7, i faw d Sifeg e @ s s s 9w ot oft &

ST |
1,3,4

4.

79. fo=feriga o @ sqmsy T o @1 foehed frewr w1 SeEwor 8 @ 7
Afe o @ ° W@ e

80. famferRga o & wdrsy T ot &1 frehed forewr 1 SeEo 2 2
I & & G |

I G, 819 85 : Ffifiga o o (Tan 3Aer@) i 3183=T S 2011 § 2016 ok S8 991 o Gl
Tceh Y <hl YESTTA H Thet 1 IMMHA B 3R Thet Bie- et Sl oh He&d ol @ |

Q.Nos. 81 to 85 : Study the following line graph which gives the number of students who joined
the school and left the school in the beginning of each year during six years, from 2011 to 2016.

P 2010 & =Ha it yRfE= FE = 3000

.._.,% - Initial strength of School in 2010 3000

= =,

Z 600

s 500— 0

2 400 W

E 200—300 330

& 100

E 2011 2012 2013 2014 2015 2016

= / Years

— whe # ynfhe g T B i e — TR TS T BT Al '

Number of students who joined school Number of students who left school

81. 2014 GRIF ot H UG- aTcl BT ohi T off
The number of students studying in the school during 2014 was :
3150
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82. Tord o o, et o <hl GorT H TRt Bie ATt BT <h! Te | whiwrd gfg/ Frree sifesman g 2
In which year, the percentage rise/fall in the number of students who left the school compared to the
previous year is maximum ?
2012

83. 2012 ¥ 2013 T Tl <hl T&AT § o1 feha wfererd <6t afg /ol g8 7

The strength of school increased / decreased from 2012 to 2013 by approximately what
percent ?
1.7%

84. 2013 H Thdl H UG ITcl BT bl TE&AT, 2016 H el H UG- ATl BIAT shl T&AT 1 foha Ffcrwra
off 7
The number of students studying in the school in 2013 was what percent of the number of

students studying in the school in 2016 ?
93.75%

85. & g 31afy & < el oft o § et § wnfiret B ATel BT Y =FAw T 6 Whel Bied
TTet BT <ht JTTyeham T | 31U fohan 8 2
The ratio of the least number of students who joined the school to the maximum number of

students who left school in any of the years during the given period is :
7:10

YT H. 86 8 90 : T 3TToTE h1 TLII hl 3TN IH YT MU T3 o I E |

Q. Nos. 86 to 90 : Study the bar graph and answer the questions based on it :
forma =ut # @ g WA 5 Sdred (9| °)

Production of Mobile by company (in Lakhs) over the years
100
80
30 85
60 65 70
40 45 50
7p— 30

35

FeaTeA (@ ')

Production (in Lalkhs)

)
2001 2002 2003 2004 2005 2006 2007 2008
Tq / Years

03 20 MASTER


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

86. 2003 ¥ 2004 T HISTSH o IcaTe H TTHT Therd Frae foha off 7
What was the approximate percentage decline in the production of mobile from 2003 to
2004 ?
23%

87. 2005 3R 2006 =1 3H1Ed Icated Fmfoiiad o & ford oy o I < 37iEd ScaTeH o Sieh SR AT ?
2002 37 2007

The average production of 2005 and 2006 was exactly equal to the average production of
which of the following pairs of years ?
2002 and 2007

88. 2001 I &1 H 2008 T HIST3E oh ICATCA H ST Fcwrd gig foha off ?
What was the approximate percentage increase in production of mobile in 2008 compared to
that in 2001 ?
183.33%

89. Toeet o shi gt H fore a9 It | faerd Jfg Hed 3Tfereh ff 7

In which year the percentage increase in production as compared to the previous year was
the maximum ?
2002

90. feu T fha oSt H HiST3S 1 3T feu T 9N o 3T IcqTe § AT o1 ?

In how many of the given years was the production of mobiles more than the average
production of the given years ?
4

TR, 919 95 : g farfvret wiwr shufat 37 37 Hufa § o e Jret SreiEt <t e & T B | et
T BH T TS STEI T H SRR 89 U Higet shwaniai sl Siawrd o fen e |
Q. Nos. 91 to 95 : There are five companies and we have been given the number of employees working in

different companies. In the table we have also been given the percentage of male and female employees in
account and research department.
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=ran/ Account STTEIH /

HuH / HI=H / Research
Company | Employees | 369/ | Wgomi/ | gew/ | wgemi/
Male | Female | Male | Female

A 450 12 14 9 7

B 700 19 10 11 13

C 550 28 14 4 )

D 600 31 9 6 4

E 350 12 18 3 7

91. fe i@ foramt & Ut E 6 60% HH=RET o 98 MBA i feaft & 3t srg@em feom & 36t ot
40% =TT o I8 MBA <hl feift 2, a1 shofi E # fera spr=nfiat o ad MBA <hi ferfi 2 7

If 60% of the employees of company E in account department have MBA degree and 40% of the
employees of the same company in the research department have MBA degree, then how many
employees have MBA degree in company E ?

77

92. <@ favmT # Shut B <6t Afget =i <ht Ten w1 g o § Sut C < ey e Sl
T ¥ UG fehaAT @ 7
What is the ratio of the number of female employees of company B in account department

to the number of male employees of company C in research department ?

35:11

93. HUAl A% @I HEATIT hl ol T HUAT E o SFTTHUH HUATRT hl ol T T T
feraa wfersra srfers 2 7

The total number of account employees of company A is approximately what percent more
than the total number of research employees of company E ?

234.29%
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94. HU A 3R C QM o oi@l TawT H R $HoT T69 HUATE! T HUH! B 3T D gHi & 3199H
forvm o shritd $o afgen s & s fhaaT g 2
What is the ratio of the male employees in account department of company A and C

together to the female employees of research department in company B and D together ?
208 : 115

95. @t Suft (Fut D I Bige) T oi@n faumr 6t ufgen s £ o et ge 3t
vt i (U A 3R E & Biget) T FTEEH fawmT o Jey st i ot et gen
% st <1 T fohaT B ?

What is the difference between the number of female employees of account department in
all companies together (excluding company D) and the male employees of research
department in all companies together (excluding company A and E) ?

138

Y E. 96 T 100 : f= arferent Tl W1 37 fefm & AR W gi= T A, B, C, D 311 E <hl SHEE
1 gfererd faauor et 2 |

Q. Nos. 96 to 100 : The following table gives the percentage distribution of population of five
states A, B, C, D and E on the basis of poverty line and also on the basis of sex.
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wwa/ | T EAE TEt vd Agenatt @ srgar /
State | 1 SEEnH Proportion of Males and
s/ Females
Percentage of | wi=stwan® i/ | 7= W@ W
Population Below / Above
Below the Poverty Line | Poverty Line
Poverty Line
g/M:=/F | a/M:=u/F
A 30 5:6 6:7
B 20 3238 4:5
C 25 .72 2:3
D 20 B:2 4:3
E 15 B: 3 32

96.

Ife T=g C & foru el W1 & W AN 91t goui 1 e 1.5 i 2, d@ s ¢ il $
S feha 8 7
5 faforem

If the male population above poverty line for state C is 1.5 million, then the total population
of state C is :
5 million

97.

TS D H e W ¥ S I arel gigenal b S #=40 gl 9 98 Wid @ Tk tsw DR
See 7 fuferma g ¢
2.4 fuferm

What will be the number of females above the poverty line in the state D, if it is known that
the population of state D is 7 million ?
2.4 million

98.

T A o FoTu T W@ & S0 ST JTet T <hl SIS STHEe 91 gt 3afg T A o fof st
@Y FW 3T el Afgemd 1.8 fferm g 2
3.55 fuferem
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What will be the approximate male population above poverty line for state A if the female
above poverty line for state A is 1.8 million ?
3.55 million

99. e Ts¥ B o foTu et T@1 @ i & qeui i sae 2.4 faferm 3i 159 E & forw 6 faform
8, A1 U1 B 3R E 6l o SHE SIa | & :
If the population of males below poverty line for state B is 2.4 million and that for state E is

6 million, then the total populations of states B and E are in the ratio :
1:2

100. 3fe TS C 6t Hat e 4 fuferem 2, 1 U7 C H 0 @1 8 0 31 areft afgersti i et
AT A1 1T |
1.8 fform

If the total population of state C is 4 million, find the total number of females above poverty
line in state C.
1.8 million
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